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2.
01
0.3196 2
3.
01
0.1137 3
2.
(Y) (X)
(Xy)
Ry .x 1x2 = °-56674"
*p < .01
01
0.56674
5 (x™)
(Xy)
(Y)
(Y) 32.12

(R2 = 0.32719)
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6 0"
Source of Variation df % F
Regression 2 829830395  4149.15197
112.61334
Residuals 479-2-1 17537.85472- 36.84423
Total 478 724751
*
p<.01l F.OL (2476) = 4.6
f F
F R
Y-XIX2
0 01
3.
(Y) (X |
(X) '
() (3)
CEest)
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3 SE F
\ 0.96590 0.47106 0.07793 153,595
'|' 0.13098 0.26607 0.01871 49.002*
a = 2.80198
SE = 6.06995
est
*» < .01

6,06995

X) ( = 047106)
1 (3 = 026607)

>
I

040Sg0X}" + 0.13098X" + 2.80198

0.47106Z1 + 0.26607Z2

N
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